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CERTIFICATE IN PRIMARY CURRICULUM 
AND INSTRUCTION (CPC) 

Module 2 of DPE 

Term-End Examination 

December, 2013 

ES-212 : INTEGRATED LEARNING AND 
TEACHING IN PRIMARY SCHOOLS 

re : 3 Hours 	 Maximum Weightage : 70% 

to : (i) 	All questions are compulsory. 

(ii) All questions carry equal weightage. 

Answer the following question in about 
600 words : 
Discuss various implications of the integrated 
learning approach at primary level. 

OR 
Explain various strategies for large group learning 
with suitable examples. 

Answer the following question in about 
600 words : 
Suggest some resources for integrated learning 
experiences. How these resources could be best 
utilized at primary level ? 

OR 
Compare the constructivist approach and 
behaviourist approach of learning to explain the 
concept, 'how do children learn ' ? Support your 
answer with suitable examples. 
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3. 	Answer any four of the following questions in 
about 150 words each : 
(a) Explain the concept of multi-grade 

integration with suitable examples. 
(b) Discuss various stages of concept 

attainment model (CAM). 
(c) How will you use various strategies for 

experiential learning ? Suggest some 
examples. 

(d) Discuss important considerations, while 
choosing a theme for a project. 

(e) What do you mean by graded exercise ? 
Suggest steps in preparing graded exercise. 

(f) Describe role of integrated learning in 
making education more manageable. 

	

4. 	Answer the following question in about 
600 words : 
Take an example from the subject, you are 
teaching at primary level and prepare an 
integrated unit plan, explaining various steps. 
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